N = 0l & At & Ml A

SN SHD
HE: Y=Y WA
ool dsE AN 2E (sl &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=31 87,238,848 46,255,857 40,982,991
= 6,830,422
s 25,114,000
J| 1,249,021
< 54,045,405
Y=g S gy 51,830,406 13,131,832 38,698,574
= 3,857,075
J| 1,249,021
< 46,724,310
AsdE HAA 2= 269,448 1,198,580 A 929,132
AMsE A =X 269,448 394,080 A 124,632
308 XXIEHH SOl A 269,448 394,080 A 124,632
N 3IN2SUHUE3 LS A 269,448 394,080 A 124,632
Od=3 HNHEA 24 - 29 269,448
sgEHIE 2= 6,085,111 6,102,961 217,850
= 625,000
J| 1,249,021
< 4,211,090
s =T ZWUY 2HE ANHFA 55,000 135,000 280,000
203 YR =] 55,000 50,000 5,000
03 Al =X AR =XH| 55,000 50,000 5,000
O=ZAQ M 28 A X7 55,000
s Jlge MMy (=) 300,000 180,000 120,000
= 150,000
= 150,000
307 glz2tol & 300,000 180,000 120,000
= 150,000
< 150,000
02 It HAMHEE 300,000 180,000 120,000
O=gu Jlg2t AAHZ3S 300,000
= 150,000
< 150,000
SESSFNY #2435 A& 98,000 28,000 70,000
307 glz2+ol & 70,000 0 70,000
02 YAFHAANHFEE 70,000 0 70,000
O=sZEs=s&ad OtAHE X223t 70,000
308 XX EHH SOl A 28,000 28,000 0
01 AXSHBELS 28,000 28,000 0
OAESAHH RESHE &= 28,000
SENE Sguds N (sE=ssgads sgH 2,930,000 2,122,000 808,000
sg s)(me)
202 o4dl 5,000 6,000 21,000
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A
A=Y AW
YU FEIY DE CER-ED
- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
01 AIKSHMEAMNEX= 88,500 0 88,500
OXNEH? HWERKA 2= 88,500
= 75,000
o= 13,500
403 XX SRS K 20| & 600,000 0 600,000
= 400,000
& 200,000
01 MXHHXE2BE =X 600,000 0 600,000
OsEsEeMINF =4 600,000
= 400,000
& 200,000
JEXI 2 &2 & aka 41,348,653 2,332,027 39,016,626
= 429,200
== 40,919,453
s = A& 37,508,000 0 37,508,000
308 XX SHHSOIH 37,508,000 0 37,508,000
01 AIXSHMEMNEXZ 37,508,000 0 37,508,000
OsHYo =& X& 37,508,000
Hdsgo g4 155,520 337,880 A 182,360
202 04| 3,060 3,600 AN 540
01 2L HI 3,060 3,600 A 540
O0Hsel B4 ALEX 3,060
308 XNXIGHHSO0l& 152,460 334,280 A 181,820
01 HXHHIMNEXS 152,460 334,280 A 181,820
OsEHAHZ2E0/2X 222X A 13,860
OWME=sgHE &9 X 129,600
O=sd&E 28HEH| A& 9,000
Hdsgo S s32UXA 920,000 0 920,000
308 MXISHMSOIA 920,000 0 920,000
01 HXHHIMNEXTZ 920,000 0 920,000
OAE=sge =32 XH 900,000
okLsdZE &M XN 20,000
Hds=gol 2XHRA 1,760,000 1,418,000 342,000
308 XAHXIGHHM SO0l & 1,760,000 1,418,000 342,000
01 AIKISHHENEXZ 1,760,000 1,418,000 342,000
OWAEd=go EXHIRAH 1,760,000
= Z2sH 2435 107,800 0 107,800
308 MXISHMSOIA 107,800 0 107,800
01 HXHHIMNEEXTZ 107,800 0 107,800
OsZ0t8 224 & 107,800




FN: s3I
e

HE: YRS FH B
SHel: SEIIXGY Ao B s (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

sE&s2 2= N& 32,400 67,200 A 34,800

308 XAHXIEHSOIA 32,400 67,200 A 34,800

01 AIXSHMENEX= 32,400 67,200 A 34,800
O=&52 28 14 32,400

NEsa ZAH XIS 237,694 232,667 5,027

308 XX EHSOIA 237,694 232,667 5,027

08 W=EJl&otistE = 237,694 232,667 5,027
OXNYE =M SAH K& 237,694

=ZE Z2S0l0jlsE4dH 29 NKH(=21D) 46,200 27,400 18,800
= 46,200

308 MXISHHMSOIA 46,200 27,400 18,800
= 46,200

01 HXHHIMNEXZ 46,200 27,400 18,800
OsZ& 8s0l0l=848H 22 XN& 46,200
= 46,200

SESSHEHXK(Z1) 118,000 0 118,000
= 118,000

308 XX SHHSOIH 118,000 0 118,000
= 118,000

01 AIXSHMENEXZ 118,000 0 118,000
OsZfRstdgy X& 118,000
= 118,000

SHAHGO sHABAX XN 164,039 0 164,039

308 XX EHSOlIA 164,039 0 164,039

01 AIXSHMENMNEX= 164,039 0 164,039
O=s8HIR sHHEXN K& 164,039

SEESMXNE(=ZD) 55,000 0 55,000
= 55,000

308 XXIGHM SO0l & 55,000 0 55,000
= 55,000

01 AXHHNIMNEXTS 55,000 0 55,000
O=sE=sH XA 55,000
= 55,000

M E=sY 45X (=) 210,000 0 210,000
= 210,000

308 MXISHMSOIA 210,000 0 210,000
= 210,000

01 AIXSHMENMNEXZ 210,000 0 210,000
OMIE=Y 435 XA 210,000
= 210,000

M= ITEH 29 34,000 0 34,000
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2N s3I
B UAsY AW 4
el Meslol |4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 AXSHHBLEES 162,000 308,000 A 146,000
oOa3dE=sgYe 84 X 162,000
=g HDIINUE 29 105,000 0 105,000
308 XXM SOIA 105,000 0 105,000
N 3IN2SUHUS3AEAE A 105,000 0 105,000
OsY :N3INLE =29 105,000
FH=sus XA (21D) 31,943 45,000 A 13,057
= 17,746
< 14,197
307 21201 A 31,943 45,000 A 13,057
= 17,746
= 14,197
02 IS AMHEL 31,943 45,000 A 13,057
O=dsus XA 31,943
= 17,746
< 14,197
SHO0IAEHUE 22 X2 (22) 736,694 741,778 A5,084
= 491,129
< 245,565
307 glz2tol & 736,694 741,778 A5,084
= 491,129
< 245,565
02 IZtE M AHE X 736,694 741,778 A5,084
O=g0tolAaEHUE 29 XA 736,694
= 491,129
< 245,565
SHZEIHLE (FLENA) (=) 63,000 78,000 A 15,000
= 63,000
308 XXM SOIA 63,000 78,000 A 15,000
= 63,000
01 IXNSHHBANEES 63,000 78,000 A 15,000
O=g3gH&dde K& 63,000
= 63,000
HUsgo d=sFd= XNJA(HNE)(=2) 1,964,157 24,000 1,940,157
= 1,735,000
< 229,157
201 Let24E] 18,000 18,000 0
= 9,000
< 9,000
01 At 22/l 18,000 18,000 0
OFEs HY B +Y S 18,000
= 9,000
< 9,000
202 o4dl 6,000 6,000 0




SN SHD
HE: Y=Y WA
ol Meselol g4 (SHol: @)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 3,000
< 3,000
01 = LH o4 1l 6,000 6,000 0
OFHE=O R 6,000
= 3,000
< 3,000
308 XX EHH SOl A 1,940,157 0 1,940,157
= 1,723,000
< 217,157
01 HXNHHBHELS 1,940,157 0 1,940,157
OFE=Y sF A2 1,940,157
= 1,723,000
= 217,157
HUE= 2040 L EX ASHLEE (2 D) 22,000 0 22,000
= 16,000
S 6,000
307 glz2tol & 22,000 0 22,000
= 16,000
< 6,000
02 P MNAHEE 22,000 0 22,000
OFY=s 2040 HHEX HSHLE 22,000
= 16,000
= 6,000
sENEAANA(21) 480,000 0 480,000
= 480,000
308 AXIEH S0l 480,000 0 480,000
= 480,000
01 IXNHHBANEES 480,000 0 480,000
O=sZE10828EX& 480,000
= 480,000
ZRSENY 245 35,347,672 33,051,959 2,295,713
= 2,973,347
s 25,114,000
< 7,260,325
=% =& 39 245 1,527,383 3,348,633 21,821,250
= 1,089,883
< 437,500
HsHE S 143,000 0 143,000
307 21201 A 98,000 0 98,000
02 B AAFEX 98,000 0 98,000
OHA=sHE S 98,000
308 XXM S0 A 45,000 0 45,000
01 HXNHHNBHNEELS 45,000 0 45,000
OHsHE X 45,000




SN SHD
HM: A/A=Ss=)Y &3
©9l: =Y == Y 2O CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
SZEZ2=SHE AL SE2AY XK (HEH) 82,500 0 82,500
308 XAHXIEHSOIA 82,500 0 82,500
01 AIXSHMENEX= 82,500 0 82,500
OsZ=ZSH3A =AY X (X EH) 82,500
HEilgeld s N (9z2s)(=21) 29,883 30,233 A 350
= 29,883
308 XX G S0l & 29,883 30,233 A 350
= 29,883
01 AIKISHHENMNEXZ 29,883 30,233 A 350
OsZEMEs20sS 92t IR 29,883
= 29,883
HsHE XX (Z2ZD) 1,272,000 0 1,272,000
= 1,060,000
= 212,000
308 MXISHHMSOIA 1,272,000 0 1,272,000
= 1,060,000
& 212,000
01 IXHHIMNEXS 1,272,000 0 1,272,000
OAsHE SXNXA 1,272,000
= 1,060,000
= 212,000
SE&ZD|8 == 3,650,809 1,559,826 2,090,983
= 1,243,864
== 2,406,945
SEZANY FMA 4G 1,599,500 0 1,599,500
308 XX SHHSOIH 94,500 0 94,500
01 AIXSHMENEXZ 94,500 0 94,500
SESZAE WA 4G 94,500
403 XX SHHS K20 & 1,505,000 0 1,505,000
01 AIXISHHMA=Z2E X 1,505,000 0 1,505,000
OsE2HZAY A 245 1,455,000
O3BLSIMEfOIE HE2 T4 50,000
SE&ENMA SAHG MDD 47,650 0 47,650
202 o4 | 7,650 0 7,650
01 2L I 7,650 0 7,650
O=EBZ s ALEA 7,650
307 gizto| A 40,000 0 40,000
02 QIZ2IA AAIE B2 X 40,000 0 40,000
OsZE2Z MY 43 MDD 40,000
SEMESA0IS SXNE HEO0sS NS 78,250 0 78,250
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2N s3I
M AY=sFENYE A5
Sl sEXY Y (29l & 2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sEXNS e 30,169,480 28,143,500 2,025,980
= 639,600
s 25,114,000
< 4,415,880
JEE MsE OIS =01 3,802,380 4,837,500 A 1,035,120
201 Let249] 23,450 27,000 A 3,550
01 At 22l 23,450 17,000 6,450
ONBE 2 U 24012 A4 14,450
OJIgE MsZE Aal 9,000
202 (44l 8,930 10,500 A1,570
01 = LH 4 Hi 8,930 10,500 A 1,570
QJ1g88 M=sZE ts2ts) =& 8,930
403 XA S =0l & 3,770,000 4,800,000 A 1,030,000
01 X SHMA=E X 3,770,000 4,800,000 A 1,030,000
OJIZE MsE OIS sS)| 1,970,000
Ox20tE 2¢H XA 1,800,000
sSEXNGHY 29 8,500 10,000 A 1,500
201 Let24d] 8,500 10,000 A 1,500
01 At 22/l 8,500 10,000 A 1,500
O=sZXNYMLEAMNY U2 29 8,500
FUFEsZE2LHSNNIANG (sEE LSRN EH) (= 120,000 120,000 0
2)
= 60,000
< 60,000
307 21201 A 120,000 120,000 0
= 60,000
< 60,000
02 ItFAAHE R 120,000 120,000 0
OFUFC =245 NANS (=L XA
HE) 120,000
= 60,000
< 60,000
SESHNELEH(HEZXR)(=Z2) 1,292,000 1,317,000 225,000
s 1,292,000
403 MtXISHHE X201 H 1,292,000 1,317,000 A 25,000
as 1,292,000
01 XXM 22 = 1,292,000 1,317,000 A 25,000
SESHNEL(EEXT) 1,292,000
s 1,292,000
sESHNELsH(LENF)(Z2) 8,943,000 12,078,000 A 3,135,000
s 8,943,000
403 A X EHHS 20l A 8,943,000 12,078,000 A 3,135,000




SN SEY
A LAsENY 235
el sEXY EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
e 8,943,000
01 XM A2E X 8,943,000 12,078,000 A 3,135,000
O=sESAXN L3 (LERF) 8,943,000
s 8,943,000
ANZdz2s(20) 1,043,000 974,000 69,000
s 1,043,000
308 XX EHHSOIA 1,043,000 974,000 69,000
s 1,043,000
01 AXHHILEES 1,043,000 974,000 69,000
oAz &2t 1,043,000
s 1,043,000
ANZde2st (A2 &) (=21) 69,000 484,000 A 415,000
s 69,000
403 UHXSHHSA=0l& 69,000 484,000 A 415,000
s 69,000
01 X ESHMA=2E L 69,000 484,000 A 415,000
OANZASZ2LS(ANZEI) 69,000
as 69,000
SE NEY ZAANY(Z2D) 9,310,000 5,880,000 3,430,000
s 9,310,000
403 MtXISHH S =0l & 9,310,000 5,880,000 3,430,000
s 9,310,000
01 AXSHMA=2E X 9,310,000 5,880,000 3,430,000
O=sZ& &y A 9,310,000
s 9,310,000
I=MENE=4(=21) 4,457,000 2,428,000 2,029,000
s 4,457,000
403 MtXISHE X201 & 4,457,000 2,428,000 2,029,000
as 4,457,000
01 XXM A2E = 4,457,000 2,428,000 2,029,000
OJI=zdENE=sY 4,457,000
s 4,457,000
SESSENY 245 NA(=1) 1,124,600 0 1,124,600
= 579,600
< 545,000
307 21201 A 1,124,600 0 1,124,600
= 579,600
< 545,000
02 QIAHFAAHEX 1,124,600 0 1,124,600
O=sZs=sgdy g4d3 X3 1,124,600
= 579,600
< 545,000
HY2FZH (=& ) 60,770 72,066 A 11,296




2N
X ZH -
L= B

el

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET

Jl=234l 60,770 72,066 A 11,296

EM2E JI=ZHl 60,770 72,066 A 11,296

201 Let24d] 40,736 46,686 25,950

01 At 22/l 40,736 36,686 4,050
ORAM2Y AtR2ell 40,736

202 O4dl 9,234 14,580 A5,346

01 = LH 4 Hi 9,234 14,580 N5,346
fA2E UMY 9,234

203 YR =2t 10,800 10,800 0

01 12 2H YR 6,600 6,600 0
o= 6,600

04 RN2ELRZ=TH| 4,200 4,200 0
©2521 0| &t 4,200






